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2022
ECONOMICS

Paper : ECO-HC-6016
( Indian Economy—II )

( Honours Core )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer any ten from the following questions :
1x10=10

@oq PERE I @ weeE Ses

(@) Mention one objective of Indian fiscal
policy.
SRS IR A o1 Sy Bras 47 |

(b) What is repo rate of the RBI?
SReY e AT @’ &6 &2
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(c

(@)

(e)

(g)

(h)

(i)

0)
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(2)

State one direct instrument of Indian
monetary policy.

SIS JHIAINSS O] o7 e Teard 41 |
What is meant by ‘financial inclusion’?
‘R SEyessT e & 391 I9 2

Give the meaning of ‘Foreign Direct
Investment’.

‘efer CIere RGeS fora |

What is capital formation in
agriculture? :

IR FepHe oo 2

Give the meaning of ‘minimum support

price’ of agricultural produce.

- TS ANAR ST e oy W ford

State one reason for the growth of
service sector in India recently.

SPRRfSF TS SR GRS [RErE b1 F199
TeE 91|

What is agricultural productivity?
PR CeeATeETe 2

Mention one method of public sector
disinvestment.

qrerEal 499 fRPEETs 96 afdFn ey 3101

( Continued )

(3)

(k) Define the concept of ‘sustainable
agriculture’.
TR AT GRACOR < A |

() What is diversification of industries?
Srlfers fonga & 2

(m) State one main objective of the
Minimum Wages Act, 1948 by the
Indian Government.
Y58 BIS SFS HIFICY ATG 41 fHON T<
129 b1 o1 Soy TeE 9 |

(n) What kind of manufacturers are called
small-scale industries?
& @R TP Fupfes Tl I @RI
24 ?

(o) Define monetary policy.
YIS e Aeea fia |

2. Answer any five from the following questions

in brief :

7o il PR A e #HoR 5y Ty firn

(a) Distinguish between fiscal deficit and
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primary deficit.

I T F AEE qH7 e 21w
ey <41 1

( Turn Over )
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(b)

('4)

Write two characteristics of small-scale
industries.

- %% SrmeR o1 e f o

()

(@)

(e)

22A/852

Write two merits of GST.
GST 3 701 {41 fer< |

What is demonetization? Mention one
positive effect of demonetization in the
Indian economy. g

e 72 SROR wiAifve Rquea® 9o
PSS SCEY 3 |

Write any two measures undertaken
by the Government of India to improve
agricultural marketing.

PR ITH IEE TR IE SRS HHRE 242
41 I Wo1 e o |

Tertiary sector in India employs two
different kinds of people. Who are
they?

SR CRNGR O R @@ qme fics
IE | (OSER @ 2

( Continued )

(S)

(g9 Mention two objectives of the National
Competition Policy of India.

SHed ABR AfeEferEe e o1 S
SeEe 41 |

(h) State any two problems of Public Sector
Enterprise of India.

SReY A=Al 499 SR R @I Yol e

TCE 91
3. Answer any four from the following
questions : 5x4=20
oo fa enprgzd R e sifRerR Sed fra

(a) Explain any five instruments of fiscal
policy in India.
SeY TR A3 ’ AT =A0] Wi%_ il
AT <41

(b) Discuss the tools of monetary policy
of India.

SRS JHIANS] SRR 0 37 |

(c) Explain the initiatives taken by the
Government to ensure that farmers get
remunerative prices for their produce.
TR @EEFd Tefrs AT fve T
eI Sy BIPNE CETEl ATEPHR. 01
90
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(@)

(e)

(9)

(h)
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(6)

Point out the various labour policies
of India.

SR e 2w ez syl |

Workers are exploited in the
unorganized sector. Do you agree with
this view? Give reasons in support of
your answer.

RS 467 AFEHR e 1 B @2
SfeCh] o2 T ? CONF TEIq el I
oz |

What is agricultural mechanization?
Explain the role of technology in Indian
agriculture.

IR AR 60 SHGy e R
SR T 4T

Discuss the role of small-scale
industries in Indian economy.

B RS FE ST SRR S
sall

Point out the main features of Indian
tax system.

WWW%WW§WW|

( Continued )

(7)

4. Answer any four from the following

questions : 10x4=40

e ol eRPRS R GieeTl B1fRR e fia

(a) Critically discuss the role of agriculture
in the economy of India. 10
SRON WIS FRI Pl TR
SICEATAT <41 |

(b) Discuss the problems and remedies of
small-scale industries of India. 5+5=10
SRS TU TSP U WIF A
SARPTR SCEA] 1 |

(c What is service sector? Analyze the
performance of service sector of India

during post 1990’s. 2+8=10
GRS 2 3850 oA PIRS SRS GRS
IR FE Ry <41 |

(d) Explain the role of foreign investment
in the economy of India. 10
sRen wdee et Rfanm s =
411

() Give an outline of the various
macroeconomic policies of India. 10
oHey [fea R NG s some
HICEFANS 41 |
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(8)

(f) Give an assessment of the Government
policy towards foreign investment. 10

Qe Rfaee crae e Tt «fo
TR SRR |

(g) Point out the various shortcomings of
the monetary policy of India. Suggest
some remedial measures. 6+4=10

SRS TURIe ffSn SeiRerHz Sl far |
SpifRePTR PR e g e |

(h) Explain the causes of low productivity
of Indian agriculture. Give some
suggestions to increase agricultural

productivity. 6+4=10
SReE R A SeARTR FRPFZ I A |
TR Seomieel IR A Rgam o

fazm o

() Discuss the role of public sector
industries in the economic development

of India. 10
SR SO Tmee IEEdl 489 SR
\gﬁiﬂ ST 41 |

() What is agrarian structure? Outline the
agrarian structure of India. 4+6=10
IR M 2 SHey FRe© sifm eome
HCEATFEATS 47 |

* % %
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